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BACHELOR'S DEGREE PROGRAMME 
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FST-01 : FOUNDATION COURSE IN SCIENCE ANA? 
TECHNOLOGY 

Time : 3 hours 	 Maximum Marks : 100 

Note : All the questions of section-A are compulsory. Your answers should be brief and to the point. 

SECTION - A 

1. 	Fill in the blanks : 	 5 
(i) Johannes Kepler discovered the laws of 	motion. 

(ii) The disc part of the galaxy consists of 	, and clouds of dust and gas. 

(iii) Home sapiens arose in 	and migrated rest of old world via middle east. 

(iv) Carbon dioxide is utilised during photosynthesis and released during 	 

(v) About 78% of gaseous component of our atmosphere is 	 

2. 	State if the following statements are true (T) or false (F) : 	 5 
(i) Carbohydrates and fats are called body - building foods. 

(ii) Ergonomics is the study of the interaction of organisms with their environment. 

(iii) Man occupies more than one trophic level in an eco-system. 

(iv) Use of satellite communication has revolutionized communication technology. 

(v) Research and development programmes are important for the growth of any 
industry. 

3. Give short answers for the following (Not more than 50 words) : 	 10 

(i) Write any two factors which were responsible for the decline of science in post 
- Gupta period. 
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(ii) Give any two examples of materials that are used as semi conductors. 

(iii) Give any four examples of plantation crops. 

(iv) List any two bacterial and any two viral diseases of human beings. 

(v) Write two applications of LASER. 
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SECTION - B 

Note : Answer any eight questions. Limit your answers to 100 words for each question. 

1. What do you understand by science of ergonomics ? How has it helped to improve the 

life of humans ? 

5 

2. 'Science has always played a crucial role in production. Justify this statement. 5 

3. Briefly describe how development in the area of transport has affected the living style 

of people. 

5 

4. With the help of a suitable example, explain how a persistant pollutant gets accumulated 

in organism of various trophic levels. 

5 

5. List five essential components of land management. 5 

6. Name the virus that causes AIDS. Why does AIDS patient generally suffer from 
secondary infections ? What are the three ways by which AIDS can be transmitted ? 

5 

7. Briefly discuss the role of Biotechnology in agriculture. 5 

8. Briefly describe Darwin's theory of evolution through Natural section. 5 

9. With the help of suitable diagrams, differentiate between the solar and lunar eclipses. 5 

10. With the help of a suitable example, explain how hormones work in coordination with 
nervous system, to control the internal functioning of a person. 

5 
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SECTION - C 

Answer any four questions. Limit your answers upto 250 words for each question. 

1 	What do you understand by cycling of materials in an Ecosystem ? Describe the Nitrogen 10 
cycle in detail. 

2. Discuss the role of communication technology in imparting education through distance 10 mode. 

3. With the help of two examples discuss the importance of technology in small scale 10 • industries 

4. Discuss the reasons for development of science in european society during post 10 
renaissance period. Describe the factors responsible for Industrial Revolution. 

5. Describe the remote sensing method used for exploration of land and water resources. 
Give the importance of resource mapping. 

6. Explain the following : 

(i) Artificial Intelligence. 

(ii) Technology forcasting. 

10 

10 
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